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Aufgaben-Quickname: 7946

Aufgabe 1
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 91
10000 = 0,0091 b) 180

100 = 1,8 c) 696
100 = 6,96

d) 36
600 = 0,06 e) 46

10 = 4,6 f) 529
2300 = 0,23

Aufgabe 2
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 592
100 = 5,92 b) 83

1000 = 0,083 c) 121
1000 = 0,121

d) 811
1000 = 0,811 e) 16

40 = 0,4 f) 81
90 = 0,9 g) 121

1100 = 0,11

h) 85
20 = 4,25

Aufgabe 3
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 854
1000 = 0,854 b) 50

100 = 0,5 c) 276
1000 = 0,276

d) 79
10 = 7,9 e) 59

50 = 1,18 f) 66
2 = 33

Aufgabe 4
Quick:
7946

Schreibe als Dezimalbruch (Hinweis: Kürzen und Erweitern).

a) 639
10000 = 0,0639 b) 805

1000 = 0,805 c) 972
100 = 9,72

d) 276
100 = 2,76 e) 36

600 = 0,06 f) 441
2100 = 0,21

g) 49
700 = 0,07 h) 289

1700 = 0,17

Viel Erfolg!
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